
Lily                       
A triangular pattern to make with any yarn or cotton depending on the effect you
want. The size of the shawl is completely adjustable: I give indications relating to the
total weight of yarn you have, take your kitchen scale, weigh your material before
starting your knitting and you will be able to optimize its use!

Material: 
1 ball of  Iride Sesia or any other yarn of your choice.
Needles 3,5mm, or the size adapted to your yarn.                                                                
Blocking material.  

Points and abbreviations     :  
k : knit
p : purl 
sl : slipped stitch (from the left needle to the right needle without knitting it with your thread behind the work)
Yo : yarn over
*...* :repeat the pattern between * and * as many times as necessary or to arrive at the next indication.
R : row . 
Notes: This triangular shawl is increased by 1 stitch on each right siderow. Odd rows are right side rows and even rows are 
wrong side rows.

Work: 
If you use a yarn other than Iride Sesia which is the reference for this pattern, weigh your yarn and note its weight.
Cast on 5 stitches.  
R1 (right side row) : k2, 1Yo, k3. 
R2 and 4 : knit all stitches. 
R3 : k2, 1Yo, k4. 
R5 : k2, 1Yo, k5.
R6, 8, 10 and 12 : k2, * p*, finish with k2. 
R7 : k2, 1Yo, k1, 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches , finish with k2. 
R9 : k2, 1Yo, k1, 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches , finish with k3. 
R11 : k2, 1Yo, k1, 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches , finish with k4. 
Start the pattern, you will repeat the next 6 rows as many times as necessary to arrive at a total of 69 stitches. 
R1 :k2, 1Yo, k1,* 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k2. 
R2 and every wrong side rows: k2, * p*, finish with k2. 
R3 :k2, 1Yo, k1, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k3. 
R5 :k2, 1Yo, k1,* 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches,* finish with k4. 
When you have 69 stitches on your needle, follow the directions below:
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R1 : k2, 1Yo, k4, * 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k2. 
R2 and every wrong side rows: k2, * p*, finish with k2. 
R3 : k2, 1Yo, k4, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k3. 
R5 : k2, 1Yo, k4, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k4. 
R7 : k2, 1Yo, k7, * 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k2. 
R9 : k2, 1Yo, k7, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k3. 
R11 : k2, 1Yo, k7, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k4. 
R13 : k2, 1Yo, k10, * 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k2. 
R15 : k2, 1Yo, k10, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k3. 
R17 : k2, 1Yo, k10, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k4.
R19 : k2, 1Yo, k13, * 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k2. 
R21 : k2, 1Yo, k13, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k3. 
R23 : k2, 1Yo, k13, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k4.
R25 : k2, 1Yo, k16, * 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k2. 
R27 : k2, 1Yo, k16, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k3. 
R29 : k2, 1Yo, k16, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k4.
R31 : k2, 1Yo, k19, * 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k2. 
R33 : k2, 1Yo, k19, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k3. 
R35 : k2, 1Yo, k19, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k4.  
For the following rows, repeat rows 31 to 36, replacing every 6 rows the stitches in bold with 22 stitches, then 25 stitches, 28, 31, 
34, 37, 40, 43, 46, 49, 52, 55, 58 , 61, 64, 67, 70 and 73 stitches. You will have 155 stitches. You will have about 28 grams of yarn left
if you use Iride , or about 20% of the ball . If you want to lengthen the work and you have more yarn, knit until you have 20% of
your starting weight by adding 3 knit stitches every 6 rows (76, 79, 82 stitches etc.). Then finish the shawl as follows:
R1 :k2, 1Yo, k1,* 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k2. 
R2 and every wrong side rows: k2, * p*, finish with k2.                                                                                                                                  
R3 :k2, 1Yo, k1, *1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches* , finish with k3. 
R5 :k2, 1Yo, k1,* 1Yo, sl1, k2, bind off the slip stitch over the 2 knit stitches,* finish with k4. 
When you have about 8 grams left( or enough to do 5 more rows), make 4 rows by knitting all the stitches. Then on the right 
side, very loosely bind off all stitches. Wash and block the work which will form itself into a triangle shape. Bring in the threads 
and cut them short.                                                                   
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